

$$\mathbb{1} = \sum_n^{\mathbb{N}} \mathbb{1}_n \text{ comm noeth}$$

$$\mathbb{1} = \sum_n^{\mathbb{N}} \mathbb{1}_n \text{ fin gen } \mathbb{1} \text{ mod}$$

$$\mathbb{1} \leftarrow \mathbb{1} \otimes \mathbb{1}$$

$$\mathbb{1}_{m+n} \leftarrow \mathbb{1}_m \otimes \mathbb{1}_n$$

$${}^t(\mathbb{1}) = \sum_n (\mathbb{1}_n) t^n$$

$$\mathbb{1} = \mathbb{1}_0 \mathbb{1}^{\mathbb{N}0|m} : \mathbb{1}^i \in \mathbb{1}_{r_i}$$

$$\mathbb{1} = \mathbb{1} \mathbb{1}^{|n} : \mathbb{1}^k \in \mathbb{1}_{s_k}$$

$$\mathbb{1}_j \ni \mathbb{1} = \mathbb{1}^k \mathbb{1} : \mathbb{1}^k \in \mathbb{1}_{j-s_k}$$

$${}_k \mathbb{1} = \sum_{r_1 \mathbb{1}^\alpha + \dots + r_m \mathbb{1}^m = j - s_k} \mathbb{1}^1_{\mathbb{1}^\alpha} \dots \mathbb{1}^m_{\mathbb{1}^\alpha}$$

$$\text{fin gen } \mathbb{1}_j \supset \mathbb{1}^0 \mathbb{1}_j \leftarrow \mathbb{1}_j \supset \mathbb{1}^0 \mathbb{1}_j \text{ fin gen}$$

$$\mathbb{1}^0 \mathbb{1}_j \leftarrow \underbrace{\mathbb{1}_0 \mathbb{1}^{\mathbb{N}1|m}}_{\mathbb{1}} \mathbb{1}^0 \mathbb{1}_j$$

$$\mathbb{1} \in \mathbb{1}^0 \mathbb{1}_j \Rightarrow \mathbb{1}^0 \underbrace{\mathbb{1}^i}_{\mathbb{1}} = \underbrace{\mathbb{1}^0 \mathbb{1}^i}_{\mathbb{1}} \mathbb{1} = \underbrace{\mathbb{1}^i \mathbb{1}^i}_{\mathbb{1}} \mathbb{1} = \mathbb{1}^i \underbrace{\mathbb{1}^0}_{=0} = 0$$

$$\underbrace{\mathbb{1}_j \mathbb{1}^0 \mathbb{1}_j}_{\mathbb{1}_j} \leftarrow \underbrace{\mathbb{1}_0 \mathbb{1}^{\mathbb{N}1|m}}_{\mathbb{1}} \mathbb{1}_j \mathbb{1}^0 \mathbb{1}_j$$

$${}^t(\mathbb{1}) \prod_i^{1|m} \underbrace{1-t^{r_i}}_{\text{poly}}$$

$$m=0: \mathbb{1} = \mathbb{1}_0 \Rightarrow \mathbb{1} \text{ fin gen } \mathbb{1}_0 \text{ mod } \underset{\text{fin}}{\Rightarrow} \mathbb{1} = \sum_n^N \mathbb{1}_n \Rightarrow {}^t(\mathbb{1}) = \sum_n^N (\mathbb{1}_n) t^n \text{ poly}$$

$$0 \leq m \curvearrowright m+1: 0 \leftarrow \mathbb{1}_{n+r_0} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \mathbb{1}_{n+r_0} \overset{\mathbb{1}^0}{\leftarrow} \mathbb{1}_n \leftarrow \mathbb{1}^0 \mathbf{i}_n \leftarrow 0$$

$$\left( \mathbb{1}^0 \mathbf{i}_n \right) - (\mathbb{1}_n) + \left( \mathbb{1}_{n+r_0} \right) - \left( \mathbb{1}_{n+r_0} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) = 0$$

$$\sum_n^N \left( \mathbb{1}^0 \mathbf{i}_n \right) t^{n+r_0} = \left( \mathbb{1}^0 \mathbf{i} \right) t^{r_0}$$

$$\sum_n^N (\mathbb{1}_n) t^{n+r_0} = {}^t(\mathbb{1}) t^{r_0}$$

$$\sum_n^N \left( \mathbb{1}_{n+r_0} \right) t^{n+r_0} = {}^t(\mathbb{1}) - \sum_m^r (\mathbb{1}_m) t^m$$

$$\sum_n^N \left( \mathbb{1}_{n+r_0} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) t^{n+r_0} = \left( \mathbb{1} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) - \sum_m^{r_0} \left( \mathbb{1}_m \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) t^m$$

$$0 = \left( \mathbb{1}^0 \mathbf{i} \right) t^{r_0} - {}^t(\mathbb{1}) t^{r_0} + {}^t(\mathbb{1}) - \sum_m^{r_0} (\mathbb{1}_m) t^m - \left( \mathbb{1} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) + \sum_m^{r_0} \left( \mathbb{1}_m \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) t^m$$

$${}^t(\mathbb{1}) \underbrace{1-t^{r_0}} = \left( \mathbb{1} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) - \left( \mathbb{1}^0 \mathbf{i} \right) t^{r_0} + \sum_m^{r_0} \underbrace{(\mathbb{1}_m) - \left( \mathbb{1}_m \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right)} t^m$$

$${}^t(\mathbb{1}) \prod_i^{0|m} \underbrace{1-t^{r_i}} = {}^t(\mathbb{1}) \underbrace{1-t^{r_0}} \prod_i^{1|m} \underbrace{1-t^{r_i}}$$

$$= \left( \left( \mathbb{1} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) - \left( \mathbb{1}^0 \mathbf{i} \right) t^{r_0} + \sum_m^{r_0} \underbrace{(\mathbb{1}_m) - \left( \mathbb{1}_m \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right)} t^m \right) \prod_i^{1|m} \underbrace{1-t^{r_i}}$$

$$= \underbrace{\left( \mathbb{1} \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right) \prod_i^{1|m} \underbrace{1-t^{r_i}}}_{\text{poly}} - \underbrace{\left( \mathbb{1}^0 \mathbf{i} \right) \prod_i^{1|m} \underbrace{1-t^{r_i}}}_{\text{poly}} t^{r_0} + \prod_i^{1|m} \underbrace{1-t^{r_i}} \sum_m^{r_0} \underbrace{(\mathbb{1}_m) - \left( \mathbb{1}_m \overset{\mathbb{1}^0 \mathbf{i}}{\leftarrow} \right)} t^m$$

$$r_i = 1 \Rightarrow \bigvee_{k \leq m} \bigwedge_{n \geq N-1} (\mathbb{1}_n) = \frac{n^{k-1}}{(k-1)!} \underbrace{{}^1\gamma}_{\neq 0} + \text{lower order}$$

$${}^t(\mathbb{1}) \overbrace{1-t}^m \text{ poly} \Rightarrow \bigvee_{k \leq m} {}^t(\mathbb{1}) \overbrace{1-t}^k = {}^t\gamma = \sum_i^N t^i \#_i \gamma \text{ poly} : 0 \neq {}^1\gamma = \sum_i^N \#_i \gamma$$

$$\overbrace{1-t}^{-k} = \sum_j^{\mathbb{N}} \begin{bmatrix} k+j-1 \\ k-1 \end{bmatrix} t^j$$

$${}^t(\mathbb{1}) = {}^t\gamma \overbrace{1-t}^{-k} = \sum_j^{\mathbb{N}} \sum_i^{\mathbb{N}} \begin{bmatrix} k+j-1 \\ k-1 \end{bmatrix} \#_i \gamma t^{i+j} = \sum_n^{\mathbb{N}} t^n \sum_{N > i \leq n} \begin{bmatrix} k+n-i-1 \\ k-1 \end{bmatrix} \#_i \gamma$$

$$(\mathbb{1}_n) = \sum_{N > i \leq n} \begin{bmatrix} k+n-i-1 \\ k-1 \end{bmatrix} \#_i \gamma_{n \geq \overline{N}-1} \sum_i^{\mathbb{N}} \begin{bmatrix} k+n-i-1 \\ k-1 \end{bmatrix} \#_i \gamma = \frac{n^{k-1}}{(k-1)!} \underbrace{{}^1\gamma}_{\neq 0} + \text{lower order}$$